theorem - rule that is proven
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. Unlike the converse of q definition, the converse of a postulate or
theorem cannot be assumed to be trye.

We have already seen 4 postulates:
Postulate 1 - Ruler Postulate

Postulate 2 - Segment Addition Postulate
Postulate 3 - Protractor Postulate
Postulate 4 - Angle Addition Postulate

Point, Line, and Plane Postulates

POSTULATE 5 I'hrough any two points there exists exactly one line.
' J POSTULATE 6 A line contains at least two points. ’
POSTULATE 7 [T two lines intersect, then their intersection is exactly

P one point.

POSTULATE 8 Through any three noncollinear points there exists

exactly one plane.
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POSTULATE 9 A plane contains at least three noncollinear points.

POSTULATE 10 [f two points lie in a plane, then the line containing
' them lies in the plane. .

Pc STULATE 11 If two planes intersect, then their intersection is a line.
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Postulate 5 guarantees that there is exactly one such line.
> One way to find a solution of two linear equations is to graph the
lines and find the coordinates of their intersection. This process is

guaranteed to work by Postulate 7.

State the postulate illustrated by the diagram.

b.
then [t

Ex 2: Use the diagram to write examples of posTulm‘es 7,8,10, 11.

Postulate 7: (Tf 2. ines_ ety , the -terseds
IS exactly me Wm*)
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Jnterpretmg a Dlagram

‘When you Interpret a diagram, you can only assume information
about size or measure if it is marked.

YOU CAN ASSUME YOU CANNOT ASSUME Mh’ . -

L Al points are coplanow . G,F ond € e Collinear:
: LAH@ and £BHD axt 4 BF N/\d CE mfd'

Lk:‘\:’\uff \v. bF And 6(/—% Ao ok M_m(d.
and L BHRD ave /_ka AC,LTA
z Verfical anglés- L
‘A H, T, and Dare K> L o ! -
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Ex 3: Sketch a diagram showing FI:{’_I_—E_@ at its midpoint M.
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line perpendicular to a plane - if and only if the line intersects the plane in
a point and is perpendicular to even line in the plane that intersects it at
that point

Ex 4: Which of the following cannot be assumed from the diagram?




